
�������

�����������������������
����


�� 
��

	���������

�������������


������

������������
���
��

1 2102x372x29

2 2042x323x18

3

4

5

6

7

8

9

10

11

2064x352x18

2102x372x26

340x352x18

340x352x18

321x332x18

1007x200x300

1046x332x18 

1046x332x18 

2080x338x3

12

13

2064x333x333

8x30mm

A

Ø15

D

Ø5x34

H

4x16 mm

P

4x25 mm

Q

4x35 mm

R

5x60 mm

U 50mm

L-50 mm

I1

15mm

m
m01

K1

E2

L2

L=42 mm

R2

Ø7x1,5

M4x25 mm

Z

25mm

R1

Q1

P1

N1

1

2

3

45

6

7

8

8

9

10

11

12

13

6x30mm

C

3x20 mm

Q2

3x20 mm

V

E2- R

300 mm

E2- L

300 mm

6x10,5 mm

D1

27x60 mm

S1

M2



��������������
� ­ ���
���
�������­
���

����������

20min

�
-

�-

TYPE T30- TV Element/ArtikeLnr: MTA3ET30

50mm

L-50 mm

I1

x6

Ø8

L2

L=42 mm x2

E2

Ø7x1,5 x4 5x60 mm

U

x6

U

I1

32 mm

32 mm

32 mm

955 mm

990 mm

Schublade mit 3x20mm
schrauben an die Unterführunaschine befestiat 

Q2

32mm

32mm

U

I1

I1

� � � �

Ø8

L2

Z

E2

R1Q1

Q1

M4x25 mm

Z

25mm

x4

P1

R1

N1

x2

x3

x1

max.
10kg
max.
10kg

max.
10kg
max.
10kg

max.
10kg
max.
30kg

S1
S1

27x60 mm

S1



12

�������������

��������

��������

1

1

��������������
� ­ ���
���
�������­
���

����������

TYPE T30- TV Element/ArtikeLnr: MTA3ET30



�������

�����������������������
����


�� 
��
	��������

�������������


������

������������
�� 
��

1 502x372x29

2 442x323x30

3

4

5

6

7

8

9

10

11

13

14

464x351x30

502x372x26

1680x352x18

1680x352x18

464x320x18

463x290x18

496x496x18 

496x332x18 

250x250x37

461x280x5

15

899x160x4

899x461x4

16

17

464x333x333

8x30mm

A

Ø15

D

Ø18

G

Ø5x34

H

77x20x15 mm

L

3x16 mm

M

4x16 mm

P

4x25 mm

Q

4x35 mm

R

5x60 mm

U

3x20 mm

V

4x20 mm

W

4x16 mm

X

50mm

L-50 mm

I1

15mm

m
m01

K1

U1

V1

Ø7/9x4

A2

T=0

T=0

110

C2

D2

E2

I2

H=20

L2

L=42 mm

R2

Glissando 

Ø7x1,5

M1

Ø5

L1

M4x10 mm

C1

10mm

4x45 mm

S

1

2

3

4

5

6

7

7

8

9

10

11

11

12

13

14

16
17

12 1668x480x3

14

15



��������������
�­� ���
���
�� ��� �
���

����������

A
C

B

A B C
20min

TYPE T20-Highboard/ArtikeLnr: MTA3ET20  

77x20x15 mm

L

4x16 mm

P

x2 x2

50mm

L-50 mm

I1

x2

Ø8

L2

L=42 mm x1 Ø18

G

E2

Ø7x1,5 x2

x21 5x60 mm

U

x2

��

��

��

��

��

M4x10 mm

C1

10mm

x2

Ø5

L1

M1

x4

x4

M1

G

U

I1

V1

Ø7/9x4 x2

E2

L1

L2
C1

V1
+

max.
10kg
max.
10kg

max.
10kg
max.
10kg

max.
10kg
max.
10kg

max.
10kg
max.
 5kg

4 
8 

L

L

L

P

U

I1



�������������

��������

�������� 16

��������������
�­� ���
���
�� ��� �
���

����������

TYPE T20-Highboard/ArtikeLnr: MTA3ET20  

3

3



���
��
�����

����������

��������������
�­�
TYPE T20-Highboard/ArtikeLnr: MTA3ET20  

A

� �
11

�

005086ZB

19

�

1911�
��


��
�����
� ­�����

191911

C

B

B B

191911

191911 A

��C

D

D
Ø8

12
36mm

Ø8FRONT SIDE 11

64mm

64mm

36mm

BACK SIDE

BACK SIDE BACK SIDE



���
��
�����

����������

��������������
�­�
TYPE T20-Highboard/ArtikeLnr: MTA3ET20  

232 mm 232 mm

12 12

19191 19192

19193

05021ZB

��
�����
� ­����������������

B C

A

Ø8

E

D

F

12
0 

m
m

232 mm 232 mm

11

11

5 
m

m

5 
m

m



�������

�����������������������
����


�� 

�	���������

1 285x150x19

2 2035x300x19

3

4

1480x150x19

600x200x19

������������
���

�

1

2

3

4

4

25x25 mm

Z1

8x30mm

A

Ø15

D

Ø5X68

I

6x8 mm

E1

Ø7x70

F1

5,8x55 mm

G1

Ø35

K2
50mm

L-50 mm

I1



��������������
��� ���
� �
�­������
��­

����������

20min

TYPE T52-Wandregal/ArtikeLnr: MTA3ET52 

Ø8

D

D

D

D

D

D

D

DD

D

DD

D

D

D

DD

DD

DD

DD

DD

DD

A
I

I A

I

8x30mm

A

Ø15

D

Ø5X68

I

x8 x10 x20

1

2
3



��������������
��� ���
� �
�­������
��­

����������

TYPE T52-Wandregal/ArtikeLnr: MTA3ET52 

Z1

Z1

Z1

Z1

A

A

A

A
DF1

F1

DF1

DF1

DF1

DF1

Z1

4
4

4

8x30mm

A

25x25 mm

Z1

x6 x4 Ø7x70

F1

x6

��



± 4

50mm

L-50 mm

I1

I1

x2 x2

50mm

50mm
500mm

��������������
��� ���
� �
�­������
��­

����������

TYPE T52-Wandregal/ArtikeLnr: MTA3ET52 

 ∅8

5,8x55 mm

G1

G1

G1

I1

��

��

��

500mm
��

+-

+-

max.
10kg
max.
5kg

max.
10kg
max.
5kg


